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Value Function Approximation

Value Function Approximation
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Incremental Prediction Algorithm

2H vitE ottt JFERAIT detetsos 2lRIER EMY F A yiE & = 8l olof ot

2t tixstol EXME o2
MC
Aw = (X(Gt - G(StW))va(Sf.W)

D

AW = a(Reyq +90(Sec1,w) — U(Se, W)V 0(5:, w)

DNN

MEO| Ol A2 HIME 42 W] s A8 EXQ Y 3 Stz Y4

Input Hidden Output
layer layer layer

Input #1
Input #2
Input #3
Input #4

XX ‘ + Output

o7l =EE Sl o =2 FIEO A2H loss S-S E|42t S17|RI BMSIEEE &
o
=

ol 7I271& Aitstol

CNN
ojgjX|of MEdte HENZS REHESRI Y-UE S otLt

o[O|X|of 7|=2] DNNEAS HEotH FTd| B2

E_I
m
=]
m
mjn
N
Ral
Rl
g
N
Z
Z
o
ofm
jels
i

L=
=

oo
i

AMEo0 7tSX|E Swoth ofgdtd X9 YEE F o450 tsdd



